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The tax charged on all the taxable income is called: Sales Tax Direct Tax Income Tax Excise Duty
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Write short afiswers to any six parts.
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Express the given percentage as fraction to its lowest form.

Express the given fraction |as percentage to 1 decimal place.

A hockey leam won 62% nf atches and 26% were ended in draw.

What percentage of the mat

ches they lost?

Find the ratio of first quantity to the second to its lowest form.

Find the CP, when SP=Rs (851, loss 8%.

Find the SP, when CP=Rs[9600, profit 10%.

Find the SP, when MP=Rs 2760, Discount=5%.

Rate of tea In Pakistan is Rs.2.1 per pound. Find the rate per

kilogram when 1 Pound= 0]4536 kg.

Waseem invested Rs.500(

Find the amount of profit af

Write short answers to ah

1
at the rate of 52% .

the end of year.

y slx parts.

Calculate Usher on a wheal crop amounting to

Rs.3,50,000 produced by aftificial resources.

If the price of an air conditi®

ner is Rs.40,000, then workout the

amount of sales tax on it atjthe rate of 16%.

Calculate the Zakat on gold

Najesb left a wealth amounting to Rs.4,00,000. He left behind a widow,

while they did not have any
Khalid works six day-week,

rate of pay is Rs.200 per dg

amounting to Rs.15,00,000.

Find his gross monthly wage, if his

y.

It log x = 4.4236 ,then find the value of x .

Solve,

Simplify.
Write the 2566324 in sclent
Write short answers to an|
Write the first three tarms of]
Find the term a, in the seqy
Find A.M between x? + x +
Find the 7" term of G.P 2, 8,
If A= {—»2‘1,4} then write t

It X ={0,3,5}and Y ={

a,=3n~5
ence |,-3,5,-7,..q,

I, x?—x+1

vo binary relations in 4.

2,4,8} then estavlish any

two binary relations in X x }

It A={2,3,4}, B={1,3}thenfind Bx A .

Represent the point A(2,-4)

For the given data find Mean.

on graph.

(6x2=12)

(6x2=12)

child. Find the share of Najeeb's widow.

3,5,6,8,8,9,10
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Attempt any three questions. Each question carries Eight marks. (4+4=8)
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14 cows consume 63kg of hay In 18 days. How many COws will eat 770kg of hay in 28 days at the same rate?
,Lptg4d.;6,,¢nﬂvfngg8incyz% GG il s 15 o
If 15% discount on MP of a heater is allowed and stlil makes a profit of 2%. If it 13 sold on MP,what is profit percentage?
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The inherited property amounting to Rs.20,00,000 is left by a deceasad. He jeft behind a widow and two son’s.

Workout the share of each.

Simplify and express with positive Indices. (2_3 QAb)—| % (4—2 bns) _éu'iu.;}c/?‘,,mmzé/ﬁ
Rahesl Insured his house worth Rs.75,00,000 @2% of 5 years. 2% fz()t/J,ﬁlé/vﬁéwabg;ﬂs,oo,ooo Py AN
Calculate the amount pald In & years while the rate of depreciation ;,Eﬁ.zé(,u'ﬂ@ér,;utdusjgdus S d PP
is 10% yearly. _n:0L10% L/“Lf(_{u'l
Insert four Geometric Mean between -;—and 16. -£ L/;(}_//lgul_/né 16 ul—|2—

r e T U4 4.5% 712 §&11,50,000 4U 111 &-9,7,00,000 ST ASS” L/
If the total Income of a person is Rs.7,00,000 with exempted amount of Rs.1,50,000. Find the tax chargeable @4.5%.
B={6.89) wA={4,6).U=(468910] S T L s

If U ={4,6,8,9,10}, 4={4,6}and B= {6,8,9} then verify De-Morgan’s law.

x 3 ; X 3
Draw the graphof y=— =~ _4:/\_,,["; e e i
s P g . =Ty 2
Construct a cumulative frequency polygon (an ogive) for given data the &iZf)_u?.dMOdw/thc)hu:('l/}(LLJHGO
distribution of welghts (in Kilegrams) of 60 boys of 10 years of age. Eb (95 C/I}*Ul,?/(j)p?dr[c)y(j)lf

/B i
31-36 37 -39 40 —42 43 - 45 46 - 54
waelght (kg)
sun
8 10 18 12 12
Frequency
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(a).9

(b)
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